atl1*CurMon:Entry$ atl1*CurMon {ErrorFlag==0}

asym_atl1/ppm:pattern_number {ErrorFlag==0}

c 5r : 4000
g : evtiree S
= 18000~ -
S 4.5 B a
2 f i Entries 400614 30001 S <X 55w L
= F (6000 = X T o8 BT x xg odbmoo
@ - s i e - i
: - 2000 - T '
3.5 14000 Mean 4.543 :
3E- : 12000~ Std Dev  0.02572 1000 [LLCLLE L
2_5:_ 'IUDUD:— []é-g s[= HHH slslal=l= :H H = alslel= HH
ol 8000 TTTTTTTT T
- - ~1000 -
s 6000/ |
. - —2000{}
1E | ; 4000~ NN vt B N H AR E B3 oot R R I R Rl B B B b
- | | _ i L g }}E}{}{x-—g ;{;{§§-_}{ I e
: | : 8000 TR URE g g
0.5F | | 2000 - : -
: | | : ; rf:
_IIII|IIII|IIII|IIIIIII|IIII|IIII|III|IIII|IIIH1U3 Ddlllllllllllllllllllll I|III _4DDD_IIII|IIII|IIII|IIII|IIII|III
0 50 100 150 200 250 300 350 400 450 44 445 45 455 46 465 0 10000 20000 30000 40000 50000

Entry$ atl1*CurMon pattern_number

run4d265 000 at atl1.png

asym_atl1
1400F Entries 49982
i Mean -3.083
1200
i Std Dev 888
1000~ Underflow 11
800 B Overflow 13
600 —
400
200/
i ] | | I I | | L1 1 1 | | I O | | L1 1 1 | ]
$00 -2000 —1000 0 1000 2000 3000
ppm




atl2*CurMon:Entry$

)

ca. .

atl2*CurMon

0 50 100 150 200 250 300 350
run4d265 000 at atl2.png

400 450
Entry$

x10°

30000

25000

20000

15000

10000

5000

0

atl2*CurMon {ErrorFlag==0}

evilree

Entries 400614

Mean 5.024

Std Dev  0.06865

4.4

4.6 4.8 5 5.2 5.4 5.6
atl2*CurMon

15000

10000

5000

-5000

10000

15000

asym_atl2/ppm:pattern_number {ErrorFlag==0}

L % gﬁ%§§x§x 3 3% iixﬁi wx XX . x Ei

%%%%HH%%%%% %%% %%%%%%%% %%% %%%% %H
%xxxixinxxi X X %gﬁggixxxxxi gx :
JI | Ifﬂéﬂbl Iﬁﬂéﬂbl Iéﬂéﬂbl Iiﬂéﬂbl Iéﬂéﬂbl

pattern_number

asym_atl2

C Entries 49982
600

- Mean 12.32

D__
o - Std Dev 1509
>00F Underflow 4029
450 Overflow 4062
400
350
300
250
200

—IIII|IIII|IIII|IIII|IIII|IIII
3000 -2000 —1000 0 1000 2000 3000

ppm




atr1*CurMon:Entry$

atr1*CurMon

3.5

3

2.5

2

1.5

1

0.5

- — — " S—" " IR At AL A A gt L D
A P S

_|_IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

0 50 100 150 200 250 300 350
run4d265 000 at atrl.png

400 450

Entry$

x10°

30000

25000

20000

15000

10000

5000

atr1*CurMon {ErrorFlag==0}

evilree

Entries

Mean

Std Dev

400614

3.979

0.05421

.E_n_lllI|IIII|IIII|IIII|IIII|IIII|

4 4.1

42 43 44

atr1*CurMon

pattern_number

asym_atr1/ppm:pattern_number {ErrorFlag==0}
15000
B
10000
B 3
:x x§ y xﬁ§ P .
TATT o o o E B xxx X x§§§
5000 1
i % i % Nl %
%xx . X xgx s x§ % §§x gx s
i X s P §
10000 -
- %
_IIII|IIII|IIII|IIII|IIII|III
0 10000 20000 30000 40000 50000

asym_atn

" Entries 49982
930 :_ Mean 17.52
500 :— Std Dev 1538

_ derfl 4570
4501 Underflow 5

; Overflow 4549
400— 1 H
350 \/W
300
250 |
200—

. | | L 11 1 | | I | | | I | | I | L 11 1
-3000 -2000 -1000 0 1000 2000 3000

ppm




-
o =
= |
S O[]
N
=
41
3__ h o
A ;
i |
B | |
I | |
I | |
n III|IIII|IIII|IIIIIII|IIII|IIII|III|IIII|III
0 50 100 150 200 250 300 350 400 450
Entry$

atr2*CurMon:Entry$

run4d265 000 at atr2.png

x10°

35000

30000

25000

20000

15000

10000

5000

atr2*CurMon {ErrorFlag==0}

evilree

Entries

Mean

Std Dev

400614

4.515

0.0681

4

4.4 4.6

4.8 5 5.2

atr2*CurMon

20000

15000

10000

5000

-5000

10000

15000

asym_atr2/ppm:pattern_number {ErrorFlag==0}

=

=i

AR
e

e

= 1

10000 20000 30000 40000 50000
pattern_number

asym_atr2

= Entries 49982
590~ Mean ~1.133
500 — Std Dev 1538

- Underflow 4795
450 —

- LJLL Overflow 4959
400
350
300
250
El:”:I__IIII|IIII|IIII|IIII|IIII|IIII
-3000 -2000 -—1000 0 1000 2000 3000

ppm




asym_atll

asym_atl2

asym_atrl

asym_atr2

rund265 000 asym at mutua

- [
- m | —{40¢
0.003
- —35(
0.002
: —30(
0.001
- —25(
O
—0.001
0.002
-0.003
_,Dﬂﬂq._llllllllllllllllIII|IIII|IIII|IIII|IIII
~0.004-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004
asym_atll
s
| [
0.015 N —(80¢
- —70(
0.01
- —60(
0.005—
- —50(
o
0.005
-0.01
[ 0
—’D.ﬂ1 _IIIIIIIIIIIIIIlIIII|IIII|IIII|IIII|IIII
15004-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004

asym_atl1

as

I
- . 8ot
0.01 B —{70(
- g0t
0.005
B —{50(
.D |
0.005—
_0.01
B [ |
_I L 11 I || I | | | || | | | | | I | | || | | I |

—-0.004-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004
asym_atll

as

0.015

—70C

—60C

0.01
—50C

0.005

-0.005

-0.01

0.015 -

2003 0. D{I-'-I

=
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII

I"correla

[
N N —80(
- —{80c - -
0.003 0.003
n n —70(
- —70( -
0.002 0.002 st
- —60( -
0.001 0.001
E e E —50(
0 :_ L 0 :_ [ 400
~0.001 ~0.001 300
-0.002 -0.002 20¢
" M - O
-0.003F 101 -0.003F - x 10¢
N H n N | [ |
B L1 1 1 | L1 1 1 I L1 11 | L1 11 | L1 1 1 | L1 1 1 I | B | I | | | I I | | | I I | | | I I | | | I I | | L1 1 1
-0.004 0 -0.004 0
015 —0.01 0005 0 0005 001 0015 -0.01 -0.005 0 0.005 001 0.015
asym_atl2 asym_atri
s s
0.015 N —70¢ 0.015 ]
0.01F = 1o 0.01F 20
- —50( -
0.005|— 0.005|— 5
- 40( -
o o
- 30( - 10(
_0.005 _0.005
- 20( -
- - 50(
~0.01 100 ~0.01
B [ : |
—'D.ﬂ15_l L1 1 | L1 1 1 I L1 11 | L1 1 1 | L1 1 1 | L1 11 I 1 1 ,D —'D.E”E'_ 1 1 1 | | I I | | | I I | | | I I | | | I I | | L1 1 1
~0.015 -0.01 -0.005 0  0.005 001 0.015 -0.01 -0.005 0 0.005 001 0.015
asym_atl2 asym_atri
asym_ Loasym_
- O - = | —B0C
0.01 0.01
B —20( - —50(
0.005 0.005 B0
i —{15( i
o o 30(
i 10¢ i
-0.005 -0.005 200
i 50( i
—0.01- —0.01 100
- M - M
i L 1 1 1 | 1 1 1 1 I 11 11 | 1 1 1 1 | I T | | 11 1 I 1 1 _D i 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | 1 1 1 1 _D
-0.015 -0.01 -0.005 0  0.005 001 0.015 ~0.01 -0.005 0 0.005 001 0.015
asym_atl2 asym_atri
ad)} oo ad)}
- —_— M N —_— O
N —20( N
0.015 0.015 —12(
B —18( B
0.01 _1eac 0.01 —1oc
- —14( -
0.005( 0.005( a0
" 12( -
o 10 o 60¢
-0.0051 8ot -0.0051
- 80C - 40
-0.01 a00 -0.01
- - 20(
-0.015 g 20 -0.015 o
B I I 1 1 | 1 1 1 1 I 11 11 | 1 1 1 1 | I 11 1 | I 1 1 I I 1 1 B 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | 1 1 1 1

0
9 —0.005 = -0.01  -0.005 0 0.005 0.01 0.015
ation- y png o
[

—70C
0.003

—60C
0.002

— 50

0.001

—0.001

-0.002

-0.003

_ |IIII|IIII|IIII|IIII|IIII|IIII|IIII
0-004 —{].I'_'IIE -0.01 -0.005 0 0.005 0.01 0015 0.02

asym_atr2

=
IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII
[

B I ]
0.015 | s
- 8¢
0.01
- _l16¢
0.005— | 14¢
- 12¢
oF
_0.005—
—a.m:—
[ =
—D.ﬂ15_l | | L1l 11 | L1 11 | L1l 11 | L1 11 | L1111 I | I | | L1 11
—0.015 —0.01 —0.005 0 0.005 0.01 0.015 002
asym_atr2
aS _
= [ |
| —12¢
0.01
B —10¢
0.005
. _lanc
.D_
_0.005—
_0.01
- M
_I | | L 111 | L 1 11 | L 111 | L 111 | L1 11 I | I | | L 1 11

-0.015 -0.01 -0.005 0 0.005 0.01 0.015 0.02
asym_atr2

!‘dE 80(

0.015

—70C

0.01 —60C

— 50

0.005

-0.005

-0.01

-0.015

=
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—{].ﬂ15 -0.01 -0.005 0 0.005 0.01 0015 0.02
asym_atr2




asym_atll

asym_atl2

asym_atrl

asym_atr2

run4265 000 asym

asym_atll

%2 / ndf 44.87 /40 o
p0  -1.071e-07 £ 1.110e-07 ‘___—*':—
p1 0.9991+ 0.0001 :
o
-0.001 f—
-0.002 f— =
-0.003 f— _—"::

—0.004-0.003-0.002-0.001

0.006

0.004

0.002

-0.002

-0.004

-0.006

—0.004-0.003-0.002-0.001

asym_atll

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

—0.004-0.003-0.002-0.001

0.004

0.003

0.002

0.001

0

—0.001

-0.002

-0.003

-0.004

2
E
—

0 0.001 0.002 0.003 0.004

[ w2 { ndf 33.87 / 40
- |

L - I % I p0 8.824e—06 + 7.480e—-06
[ I I+

. I II+H+ p1 —1.541+ 0.009
: oy

. ol

- i- .l.

0 0.001 0.002 0.003 0.004

) ¥2 [ ndf

1
—=
-

—
—_—
——
_|_I

31.39/40
pO 7.4e—06 £ 6.9e-06

p1 —1.873 = 0.009

&

J'+I+III+I I‘IIrHI

0  0.001 0.002 0.003 0.004

|
——

IIIIII t P!

1
" T—

72/ ndf 55.12/40

po 9.358e-06 £ 1.008e-05

-0.7451£0.0127

IIIIIIIIIH

0.002

0.0

-0.001

-0.002

-0

asym_at]2

i { %2 [ ndf 18.01/23
— - IIIII p0  4.305e-08 = 3.136e-06
Z II#

R ++ p1 -0.2701+ 0.0016
- +

[ Hy I

B II‘I

:I I .| I 1 1 1 1 I L 1 1 1 I 1 1 1 | I L1 1 I_I I .| I_I 1

015 -0.01 -0.005 0 0005 001 0015

%2/ ndf 1551 /23 i
p0  —1.205e-07 = 4.412e-07
p1 0.9977 + 0.0002 -
(VAR T e
ok
~0.005F =
~0.01- ”
:III_IIIIIIIIIIIIIIIIIIIIIIIIIIIIII
-0.015 -0.01 —0.005 0  0.005 0.01 0015

asym_at]2

12/ ndf 21.95/23 )
p0  -6.533e-07 + 3.67%-06
M
p1 0.9803 £ 0.0019 iy
.D |
-0.005 P
i ++++++
—0.01 )

-0

asym_at]2

015 -0.01 -0.005 O 0.005 001 0015

+2 [ ndf 27.93/23 -
p0  —1.738e-06 + 5.474e-06
p1 0.9186 + 0.0029 .
i o
0.0051
o
-0.005 o
B $
n .
-0.01F
-0.015

:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

A mutual correlation-fit. phe

asym_atrl

- I %2 { ndf 43.29 / 29
L _I_ +
0.002 _ I +I} \
- I t p0  8.516e-07 + 2.735e—06
0.001
- o1 ~0.2971+ 0.0013
ol ]
—n.nm:—
: H.h_ _I_
- i
_0.002F £
- t4
~0.003— _
B | L1 I | | | | I | | | | I | | | | I | | | I_ I | L1 |
—0.01 -0005 0O 0.005 001 0015

asym_atrl

72/ ndf 40.87 / 29

p0 1.695e-06 £ 3.483e-06

o1 0.8876 + 0.0017 :
_I_++
UUUS— e
o
-0.005- o~
: _.|.-I-+'I+++
i W
—0.01
:I I_I I | I | I | I | I | I | I | I | I L1 1 1
—0.01 -0005 0O 0.005 001 0015

asym_atrl

2 | ndf 29.13 /29

p0  -2.565e-07 + 3.828e-07

p1 0.9989 + 0.0002 =
.D_
-0.005 r
—0.01 i
_II_IIIIIIIIIIIIIIIIIIIIIIIIII
—0.01 -0.005 0 0.005 0.01  0.015

asym_atrl

72/ ndf 59.28 /29

po 2.619e-06 £ 7.423e-06

p1 0.7221+ 0.0036

0.0051 ot +I—
0
_ [ e
0.005} _+I+++
B 1
B +
-0.01F
-0.015 _
:IIIIIIIIIIIIIIIIIIIIIIIIIIII
—0.01 -0.005 0 0.005 0.01 0.015

0.002—

0.001

—0.001—

-0.002—

asym_atr2

72 [ ndf 14.62 / 21

p0 -2.271e-06 = 3.901e-06

Pl -0.113 £ 0.002

-0.015 -0.01 -0.005 O

asym_atr2

12 I ndf 10.6 / 21
p0  5.065e-06 = 5.061e—06
p1 0.7903 £ 0.0025

[ERE T
o
~0.005F -
i *I+
i e
~0.01
-

0.005 0.01 0.015 0.02

-0.015 -0.01 -0.005 O

asym_atr2

%2 | ndf 21.97 21
p0  5.447e-06 + 7.223e—06
p1 0.6873 = 0.0036

.D |
n e
-0.005|- *IIII#
| .
_0.01

0.005 0.01 0.015 0.02

-0.015 -0.01 -0.005 O

asym_atr2

2 { ndf

p0

pi

17.63 7 21

9.954e-08 £ 5.279e-07

0.9975 £ 0.0003

0.005

-0.005

-0.01

-0.015

T 7T T T T TTTTTTTTTTTTTTTTT T
I I I I I

0.005 0.01 0.015 0.02

-0.015 -0.01 -0.005 O

0.005 0.01 0.015 0.02




N - N - N - N -
0.003 f— ! 0.003 f— 0.003 f— 0.003 f— _;;'
0.002 f— 0.002 f— 0.002 f— 0.002 f—
{J.nmf— n.nmf— n.nmf— n.nmf—
asym_atl 1 —n.nmf— —n.nmf— —n.nmf— —n.nmf—
-0.002 f— -0.002 f— -0.002 f— -0.002 f—
-0.003 f— s -0.003 f— -0.003 f— -0.003 f—
_Dlﬂﬂqzu..ulu..I....I....I....I....I....I.... _Dlﬂdzl||||IIIIllllllllllill.lllllllll| _DlﬂﬂdzlII|IIII|IIII|IIII|.IIII.|IIII _Dlﬂﬂ45|||||||||||||||||||;|.||||||||||||||||
—0.004-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004 —%.D15 -0.01 -0.005 0 0.005 001 0015 0.1 -0.005 0 0.005 0.01 0.015 -0.015 -0.01 -0.005 0O 0005 001 0015 0.02
asym_atll asym_atl2 asym_atri asym_atr2

Al as as as

| | ] | | ] | | ] | | ]

0.015 0.015 0.015 0.015
0.01F 0.01F 0.01F 0.01F
0.005— 0.005— 0.005— 0.005—
asym_atl2 °F oF oF o
— - - - -
_0.005| _0.005 _0.005 _0.005
—u.m:— —a.m:— —a.m:— —a.m:—

—’D.ﬂ1 _||||||||||||||||||||||||||||||||||||||| —D.ﬂ15_llllllllIIIIIIlIIIIlIIIIlIIIIIII —'D..ﬂ15_lIllIlllllllllllllllllllllll —'D..ﬂ15_llllllllIlllllllllIIIIlIIIIIIIIIlIIII

N 004-0.003-0.002-0.001 0 0001 0.002 0.003 0.004 “0.015 -0.01 -0.005 0O 0.005 001 0015 —0.01 -0005 0O 0.005 001 0015 —0.015 —0.01 —0.005 0 0.005 0.01 0.015 002
asym_atl1 asym_atl2 asym_atri asym_atr2

as as as as

| I | I | I | I
0.01 0.01 0.01 0.01
0.005 0.005 0.005 0.005
t 1 ok ok ok ok
asym_atr : | ; ;
_0.005 |- _0.005|— _0.005|— _0.005|— 3
_0.01 _0.01 _0.01 _0.01
_||||I||||I||||||||||||||||||||||||||||| _|||||||||I|||||||||||||||||||I|| _|||||||||||||||||||||||||||| _|||||||||||||||||||||||||||I|||||||||
_0.004-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004 _0.015 -0.01 -0.005 0O 0005 001 0015 001 0005 0 0.005 001 0015 _0.015 —0.01 —0.005 0 0.005 0.01 0.015 0.02
asym_atll asym_atl2 asym_atri asym_atr2

asyrn as . as o as

5 - 5 - 5 - 5 -
u.mEf— {:1.1:1153— u.mEf— {:1.1:1153—
u.mf— {:.mf— {:.mf— {:.mf—
u.nn5f— s {].D{}'Ef— {].D{}'Ef— {].D{}'Ef—
£
asym_atr2 : | : :
— -0.005 - -0.005 -0.005 -0.005
—{].mf— —{J.mf— —{J.mf— —{J.mf—
00150 00150 00150 00150
ST P T N P P PR B S N T P S P T S B N B I B S N T BT I T P

—-0.004-0.003-0.002-0.001 0O 001 0.002 .003 0.004 015 -001g -0.005 0 0.005 041 0015 -0.01  -0.005 0 0.005 0.01 0.015 -0.015 -0.01 -0.005 0 0.005 0.01 0.015 0.02
yim_ a asym_atri asym_atr2
run asym at mutuar correlation-scat.png



